13.500
+i4.143
[15,000MVA]
[13,500MW]

1.03
£41.85

1.428-j0.087

1.465-j0.100

1.447-j0.104

1.430-j0.107

1.413-j0.114

1.389-j0.116

0]

1.372-j0.153

L0 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Loy V42940 £24.00 £18.66 £13.39 Z8.18 £3.03 £2.02
J A== A e R & i
12.000 28.300
12,438 3.500 3.500 3.500 3.500 3.500 5.250 3.500 4761
+0 +0 +0 +0 +0 +0 +0
5 7 2 3 5 8 & g
— - — — — = S —
A"zﬁ A"zﬁ A"z—- A% A% k% Anco% A%
2 2 2 2 3 2 < 2
5500 | @ 5500 | ™ 5500 | ™ 5500 |« 5500 | 5500 | 2750 |~ 5500 |
+1.466 +1.439 +1.434 +1.437 +i1.444 +1.463 +0.823 +i1.483
1.0 T 1.0 T 1.0 T 1.0 T 1.0 T 1.0 T 1.0 T 1.0 T
/3574 3035 £ 25.01 £ 19.73 /14,52 £9.37 £9.37 £4.32
A A A A A A A
1.03 1.03 1.03 1.03 1.03 1.03 1.03 1.03
24276 £37.37 £32.03 £26.76 £ 21.55 £16.40 -£16.40 Z11.34
© @ e @ e @ @ @
+9.'20320 9.000 +9i0320 9.000 9.000 _320;)20 4.500 9.000
(10 (J.) COMYA 2760 0 g)ObMV A 2760 2760 0 (J)obMv A *i1380 +2.760
e [10,000MVA] F0 [10,000MVA] [10,000MVA] [5,000MVA] [10,000MVA]
oooomw]  [DO0OMWI o pooniwy  [9000MW] [9.000MW] g oo 4S00MW] [9,000MW]
Notes :

(1) All lines in this figure represent 2 circuits of 3-phase transmission line.
Load flow data represent the amount of 2 circuits.
(2) The unit is 1,000MVA base pu.

Fig.3.3(a) IEEJ WEST 10-machine System Model (Load Flow Map : Daytime Condition)

Swing Node

26.932
+i8.278
[30,000MVA]
[27,000MW]

[Total] 120,000MVA

107,930MW



